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�� 3HUPRKRQDQ� 3DV� /DZDWDQ� �.HUMD� 6HPHQWDUD�� �3/�.6��� 3HPEDQWX� 5XPDK� $VLQJ� �35$��
EROHK�GLEXDW�ROHK�PDMLNDQ�VHQGLUL�DWDX�PHODOXL�DJHQVL�SHNHUMDDQ�\DQJ�EHUGDIWDU�GHQJDQ�
-DEDWDQ�,PLJUHVHQ�0DOD\VLD�GL�SHMDEDW�,PLJUHVHQ�1HJHUL�PHQJLNXW�DODPDW�PDMLNDQ���

�� 0DMLNDQ� SHUOX� PHPDVWLNDQ� %RUDQJ� 3HUPRKRQDQ� EHVHUWD� GRNXPHQ� \DQJ� GLSHUOXNDQ�
DGDODK�OHQJNDS�VHEHOXP�GLNHPXNDNDQ�NH�3HMDEDW�,PLJUHVHQ�1HJHUL���

�� 0DMLNDQ�PHVWL� WHUGLUL�GDULSDGD�VXDPL�DWDX� LVWHUL�\DQJ�PHPSXQ\DL�DQDN�EHUXPXU�EDZDK�
���WDKXQ�\DQJ�SHUOX�SHUKDWLDQ�GDQ�MDJDDQ�DWDX�LEX�EDSD�\DQJ�VDNLW�X]XU��

�� 6XDPL�GDQ� LVWHUL�PDMLNDQ�PHVWLODK�EHNHUMD�GDQ�KDQ\D� VDWX� ����SHPEDQWX� UXPDK�DVLQJ�
\DQJ�OD\DN�GLSRKRQ�XQWXN�VDWX�NHOXDUJD��

�� -XPODK� SHQGDSDWDQ� EXODQDQ� PDMLNDQ� \DQJ� KHQGDN� PHQJJDMLNDQ� 35$� )LOLSLQD� GDQ� 6UL�
/DQND� KHQGDNODK� � WLGDN� NXUDQJ� 50��������� GDQ� EDJL� 35$� ,QGRQHVLD�� 7KDLODQG� GDQ�
.HPERMD�LDODK�WLGDN�NXUDQJ�GDUL�50����������

�� 0DMLNDQ� \DQJ� WHODK� GLLV\WLKDUNDQ� PXIOLV� ROHK� SLKDN� EHUNXDVD� WLGDN� OD\DN� PHQGDSDW�
NHPXGDKDQ�35$��

�� 0DMLNDQ� \DQJ� PHPSXQ\DL� DODVDQ� \DQJ� NXNXK� GDQ� SHQGDSDWDQ� PHQJLNXW� V\DUDW� \DQJ�
GLWHWDSNDQ� ROHK� -DEDWDQ� ,PLJUHVHQ� 0DOD\VLD� GLEHQDUNDQ� PHPRKRQ� SHPEDQWX� UXPDK�
DVLQJ�NHGXD��

�� %DNDO� 35$� PHVWLODK� SHUHPSXDQ�� WHUGLUL� GDULSDGD� ZDUJDQHJDUD� ,QGRQHVLD�� 7KDLODQG��
.HPERMD��)LOLSLQD�DWDXSXQ�6UL�/DQND�VHUWD�EHUXPXU�WLGDN�NXUDQJ�GDULSDGD����WDKXQ�GDQ�
WLGDN�PHOHELKL����WDKXQ�GDQ�GLVDKNDQ�VLKDW�ROHK�SXVDW�SXVDW�SHUXEDWDQ�\DQJ�GLODQWLN��

�� 0DMLNDQ�EHUDJDPD�,VODP�GLEHQDUNDQ�PHQJJDML�35$�EHUDJDPD�,VODP�VDKDMD��

��� %DNDO�35$�PHVWLODK�EHUDGD�GL�QHJDUD�DVDO�GDQ�PDVXN�GDWDQJ�NH�0DOD\VLD�PHQJJXQDNDQ�
9LVD� 'HQJDQ� 5XMXNDQ� �9'5�� \DQJ� GLDPELO� GL� SHMDEDW� SHUZDNLODQ� 0DOD\VLD� GL� QHJDUD�
EHUNHQDDQ��

��� 0DMLNDQ� GLNHKHQGDNL�PHPEXDW� SHPHULNVDDQ� NHVLKDWDQ� EDJL� 35$�GL� )RPHPD�6GQ�� %KG��
VHEDLN� WLED� GL� QHJDUD� LQL� GDQ� PHQGDSDWNDQ� HQGRVPHQW� 3/�.6�� GL� -DEDWDQ� ,PLJUHVHQ�
0DOD\VLD�1HJHUL�\DQJ�PHOXOXVNDQQ\D�GDODP�PDVD���VDWX�EXODQ�GDUL�WDULNK�WLED��

��� 3HPEDQWX�UXPDK�DVLQJ�\DQJ�JDJDO�SHPHULNVDDQ�NHVLKDWDQ�WLGDN�GLEHQDUNDQ�EHNHUMD�GDQ�
PDMLNDQ� SHUOX� PHQJXUXV� SHQJKDQWDUDQ� SXODQJ� VHJHUD� GHQJDQ� PHQGDSDWNDQ� 0HPR�
3HULNVD�.HOXDU�GDUL�-DEDWDQ�,PLJUHVHQ�0DOD\VLD��

��� 0DMLNDQ� KHQGDNODK� PHPDVWLNDQ� 35$� GLWXJDVNDQ� XQWXN� PHPEXDW� NHUMD�NHUMD� UXPDK�
VDKDMD��WLGDN�WHUPDVXN�FXFL�NHUHWD����

��� 0DMLNDQ� GLPHVWLNDQ� PHQ\HGLDNDQ� NHPXGDKDQ� ELOLN�WHPSDW� WLQJJDO� \DQJ� VHVXDL� NHSDGD�
35$� OHQJNDS� GHQJDQ� NHPXGDKDQ� DVDV� GDQ� PDNDQDQ� \DQJ� EHUNKDVLDW�� 35$� MXJD�
KHQGDNODK� GLEHUL� UHKDW� VHFXNXSQ\D� WHUPDVXN� ZDNWX� WLGXU� VHNXUDQJ�NXUDQJQ\D� �� MDP�
VHKDUL��

��� 0DMLNDQ�EXNDQ� ,VODP�\DQJ�PHQJJDML� 35$�\DQJ�EHUDJDPD� ,VODP�PHVWLODK�PHQJKRUPDWL�
VHQVLWLYLWL�DJDPD�35$�GHQJDQ�PHPEHQDUNDQ�35$�PHODNXNDQ�LEDGDK�VHSHUWL�VHPEDK\DQJ�
��ZDNWX��SXDVD�EXODQ�5DPDGKDQ�GDQ�WLGDN�GLVXUXK�PHODNXNDQ�NHUMD�NHUMD�UXPDK�\DQJ�
EHUWHQWDQJDQ�GHQJDQ�DJDPD�,VODP��

����



��� 0DMLNDQ� KHQGDNODK� PDNOXP� EDKDZD� 35$� WLGDN� GLEHQDUNDQ� EHUNDKZLQ� GHQJDQ� UDN\DW�
WHPSDWDQ�� UDN\DW� DVLQJ� DWDX� SHNHUMD� DVLQJ� \DQJ� EHUNHUMD� GL� QHJDUD� LQL� VHPDVD�
PHPHJDQJ�3/�.6���

��� 0DMLNDQ�KHQGDNODK�PDNOXP�EDKDZD�35$�WLGDN�GLEHQDUNDQ�PHPEXDW�3HUPRKRQDQ�3HUPLW�
0DVXN�VHPDVD�PHPHJDQJ�3/�.6���

��� 0DMLNDQ� KHQGDNODK� PHPDVWLNDQ� 35$� WLGDN� EHUWXNDU� SHNHUMDDQ�VHNWRU� DWDX� EHUWXNDU�
PDMLNDQ�WDQSD�NHEHQDUDQ�GDUL�-DEDWDQ�,PLJUHVHQ�0DOD\VLD��

��� /DQMXWDQ�WHPSRK�3/�.6��KHQGDNODK�GLNHPXNDNDQ�NHSDGD�PDQD�PDQD�3HMDEDW�,PLJUHVHQ�
WLJD� ���� EXODQ� VHEHOXP� WDULNK� WDPDW� 3/�.6�� VHWHODK� PHQGDSDW� NHOXOXVDQ� SHPHULNVDDQ�
NHVLKDWDQ�GL�)RPHPD�6GQ��%KG��

��� 0DMLNDQ� EHUWDQJJXQJMDZDE�PHQ\LPSDQ� UHNRG� SHPED\DUDQ� JDML� 35$� GDQ�PHQXQMXNNDQ�
NHSDGD�SLKDN�-DEDWDQ�DSDELOD�GLPLQWD�XQWXN�WXMXDQ�ODQMXWDQ�3/�.6��DWDX�0HPR�3HULNVD�
.HOXDU�� *DML� 35$� KHQGDNODK� GLMHODVNDQ� VHOHZDW�OHZDWQ\D� SDGD� PLQJJX� WHUDNKLU� VHWLDS�
EXODQ��

��� 5DZDWDQ� SHUXEDWDQ� SHUXEDWDQ� 35$� VHPDVD� GDODP� WHPSRK� 3/�.6�� DGDODK� GL� EDZDK�
WDQJJXQJMDZDE�PDMLNDQ���

��� 0DMLNDQ� EHUWDQJJXQJMDZDE� PHODSRUNDQ� NHSDGD� -DEDWDQ� ,PLJUHVHQ� 0DOD\VLD� VHNLUDQ\D�
35$�PHQLQJJDO�GXQLD��KLODQJ�DWDX�PHODULNDQ�GLUL�GDUL�WHPSDW�VHSDWXWQ\D�GLD�EHNHUMD��

��� 0DMLNDQ�DWDX�DJHQVL�SHNHUMDDQ�WLGDN�GLEHQDUNDQ�PHPXNXO�DWDX�DSD�DSD�SHUEXDWDQ�\DQJ�
PHQGDWDQJNDQ�NHFHGHUDDQ�NHSDGD�35$����

��� 6HNLUDQ\D�PDMLNDQ�GDQ�SDVDQJDQQ\D�EHUFHUDL��-DEDWDQ�,PLJUHVHQ�0DOD\VLD�EHUKDN�XQWXN�
PHPLQGDKNDQ� QDPD� PDMLNDQ� 35$� EHUNHQDDQ� NHSDGD� LVWHUL� DWDX� PDMLNDQ� EDUX� \DQJ�
EHUNHOD\DNDQ���

��� 6HNLUDQ\D� PDMLNDQ� DWDX� SDVDQJDQQ\D� PHQLQJJDO� GXQLD�� PDND� PDMLNDQ� DWDX� SDVDQJDQ�
DWDX� ZDULVQ\D� GLPLQWD� PHODSRUNDQ� NHSDGD� -DEDWDQ� ,PLJUVHQ� 0DOD\VLD� XQWXN� WXMXDQ�
SHQJHVDKDQ�VWDWXV�PDMLNDQ�EDUX�35$�EHUNHQDDQ���

��� 0DMLNDQ� KHQGDNODK�PHQGDSDWNDQ� NHOXOXVDQ� GDUL� -DEDWDQ� ,PLJUHVHQ� 0DOD\VLD� EDJL� 35$�
\DQJ� PHPRKRQ� EHUKHQWL� DWDX� GLEHUKHQWLNDQ� DWDX� WDPDW� WHPSRK� SDV� GHQJDQ�
PHQGDSDWNDQ� 0HPR� 3HULNVD� .HOXDU� GDUL� -DEDWDQ� ,PLJUHVHQ� 0DOD\VLD� EDJL� WXMXDQ�
SHQJKDQWDUDQ�SXODQJ��

��� -DEDWDQ� ,PLJUHVHQ� 0DOD\VLD� PHPSXQ\DL� KDN� PHPEDWDONDQ� NHOXOXVDQ� SDV� \DQJ�
GLNHOXDUNDQ��

��� -DEDWDQ� ,PLJUHVHQ� 0DOD\VLD� PHPSXQ\DL� NXDVD�PHPLQGDKNDQ� 35$� \DQJ� GLDQLD\D� ROHK�
PDMLNDQ�DVDO�NHSDGD�PDMLNDQ�EDUX�\DQJ�OD\DN�DWDV�GDVDU�NHPDQXVLDDQ�ZDODXSXQ�WDQSD�
SHUVHWXMXDQ�PDMLNDQ�DVDO��

��� 0DMLNDQ�\DQJ�LQJLQ�PHPEDZD�SHPEDQWX�UXPDK�DVLQJ�EHNHUMD�GL�OXDU�QHJDUD�GLNHKHQGDNL�
PHPDNOXPNDQ� NHSDGD� SHMDEDW� SHUZDNLODQ� QHJDUD� DVDO� SHPEDQWX� UXPDK� DVLQJ�
EHUNHQDDQ�GL�0DOD\VLD��

��� 0DMLNDQ� \DQJ� WHODK� GLEHUL� NHOXOXVDQ� 35$� WHWDSL� JDJDO� PHPDWXKL� V\DUDW�V\DUDW� GL� DWDV�
DNDQ�GLVHQDUDLKLWDPNDQ�GDULSDGD�PHQGDSDW�NHPXGDKDQ�SHPEDQWX�UXPDK�DVLQJ��
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